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Practice Test. Probleme de matematică distractivă
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1. What is the value of (20 + 18): (20 — 18)?
A8 B)19 20 D)34 )36
2. Atriangle has sides of length 6, 10 and 11 An equilateral triangle has the same perimeter.

What is the length of each side of the equilateral triangle?
A6 B9 Q10 D11 F)27

3. Which number should replace K inthe equation 2 - 18 - 14 = 6 - K - 7to make it correct?
A8 B9 10 DJ12 )15

4. A large rectangle is made up of nine identical rectangles
‘whose longest sides are 10 cm long.

What s the perimeter of the large rectangle?

A)40cm B)4Bcm C)76cm D)Blcm E)90cm

5. The diagram shows a rectangle of dimensions r <
7 11 (a=7, b=11) containing two circles that
each touch three of the sides of the rectangle.
What is the distance between the centres of the two circles? k

A1l B2 o3 D)4 £S5 b
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6. Square ABCD has sides of length 3 cm. The points Mand N o
lie on AD and AB 0 that CM and CN split the square into
three pieces of the same area. What is the length of DM? E

A)0Scm Bjlecm C15cm D)2ecm E)25cm N Y

7. Azmi, Burhan and Choo went shopping. Burhan spent only 15 % of what Choo spent.
However, Azmi spent 60 % more than Choo while together they spent 55 Euro.
How much did Azmi spend?

A)2 B)20 )25 D)26 )32




